
                                                                                                     
                       

1 | P a g e  
 

© Copyright Utemaster NZ Ltd. 
 

NZ Support: 
P: 0800 683 352 
E: sales@utemaster.co.nz 
W: www.utemaster.co.nz 

Australia Support: 
P: 1800 43 345 
E: sales@utemaster.com.au 
W: www.utemaster.com.au 

 
 

Isuzu D-Max 2020+ 
Canopy Despatch List 

 

PRT-003673L        1x 
PRT-003673R        1x 
 
 
PRT-003674         2x 
 
 
PRT-003672L        1x 
PRT-003672R        1x 
 
PRT-003748L        1x 
PRT-003748R        1x 
 
M6 x 40mm  
button head bolt        2x 
 
M6 washer         6x 
 
 

M8 x 25mm  
button head bolt        4x 
 
M6 x 25mm  
button head bolt        4x 
 

 
M8 washer         8x 
 
       
M6 nyloc nut        6x 
 
 

M8 nyloc nut         4x 
 
 
Wire taps         2x 



                                                                                                     
                       

2 | P a g e  
 

© Copyright Utemaster NZ Ltd. 
 

NZ Support: 
P: 0800 683 352 
E: sales@utemaster.co.nz 
W: www.utemaster.co.nz 

Australia Support: 
P: 1800 43 345 
E: sales@utemaster.com.au 
W: www.utemaster.com.au 

We recommend watching the installation video before attempting to install 
 

Enter this address into your web browser to view the fitting video: 

https://bit.ly/38IBRrp 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
Step 1) Remove the hooks from the front of the wellside 
   

    
 
 
 
 

Isuzu D-Max 2020+ 
Canopy Fitting Instructions 

 

Thank you for purchasing a quality Utemaster™ product, our aim is providing you with as much assistance as possible 
throughout the fitting process.  Please contact us if assistance is needed. 

 

30-60 minutes 



                                                                                                     
                       

3 | P a g e  
 

© Copyright Utemaster NZ Ltd. 
 

NZ Support: 
P: 0800 683 352 
E: sales@utemaster.co.nz 
W: www.utemaster.co.nz 

Australia Support: 
P: 1800 43 345 
E: sales@utemaster.com.au 
W: www.utemaster.com.au 

Step 2) Remove the rear wellside bolt 
 

 
 
Step 3) Install the front mounting brackets, re-using the original hook and bolts 
 

  
 
Step 4) Install the rear mounting brackets, re-using the original bolt 
 

  
 
 
 



                                                                                                     
                       

4 | P a g e  
 

© Copyright Utemaster NZ Ltd. 
 

NZ Support: 
P: 0800 683 352 
E: sales@utemaster.co.nz 
W: www.utemaster.co.nz 

Australia Support: 
P: 1800 43 345 
E: sales@utemaster.com.au 
W: www.utemaster.com.au 

Step 5) Lift the canopy onto the vehicle 
 

 
 
Step 6) Bolt the canopy to the front mounting brackets using the M8 bolts, nuts, and washers 
 

 
 
Step 7) Bolt the canopy to the rear brackets using the short M6 bolts, nuts, and washers 
 

 
 



                                                                                                     
                       

5 | P a g e  
 

© Copyright Utemaster NZ Ltd. 
 

NZ Support: 
P: 0800 683 352 
E: sales@utemaster.co.nz 
W: www.utemaster.co.nz 

Australia Support: 
P: 1800 43 345 
E: sales@utemaster.com.au 
W: www.utemaster.com.au 

Step 8) Insert the clamping tab on each side and bolt in place with a nyloc nut underneath 
 

    
 

Step 9) Remove the rear passenger side light and unplug the white plug in the centre 
 

  
 

Step 10) Feed the wire from the canopy through the wellside into the rear light cavity 
 

 
 

Step 11) Use the provided wire taps to connect the canopy wires onto the wires shown below. 
   Red > Red  Black > Black 

 



                                                                                                     
                       

6 | P a g e  
 

© Copyright Utemaster NZ Ltd. 
 

NZ Support: 
P: 0800 683 352 
E: sales@utemaster.co.nz 
W: www.utemaster.co.nz 

Australia Support: 
P: 1800 43 345 
E: sales@utemaster.com.au 
W: www.utemaster.com.au 

Step 12) Insulation tape up the connectors 
 
Step 13) Re-attach the clip and re-route the wires, then re-install the rear light to the vehicle 
 

  
 
Step 14) Remove the bolts holding the tailgate latches 
 

 
 
Step 15) Insert the tailgate brackets behind the tailgate latches and re-insert the bolts through 
both layers 
 

    
 
 
 

Your canopy is now fully fitted and ready to use. 
Thank you again for using Utemaster™ and don’t forget to keep checking our website for our 

latest innovations! 


